
Multiplying and Dividing II

This task is about finding missing numbers.

a) Sina multiplied a number by 6 instead of dividing it by 6.

    The answer she got was 108.

    

    What should her answer have been? 

 

b) Sina then multiplied a number by 7 instead of dividing it by 7.

    The answer she got was 196.

 

    What should her answer have been? 

 

c) Sina next multiplied a number by 3 instead of dividing it by 3.

    The answer she got was 54.

 

    What should her answer have been? 
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